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Red lines show tracks of ACs during lag –48 h to lag 36 h, 
when valid. 
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Time series of minimum SLP (hPa) of ACs during lag –48 h 
to lag 36 h, when valid 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 

24 27 30 33 36 39 42 45 

300-hPa wind speed (m s−1) 
Mean AC location 

SLP (hPa) 1000–500-hPa 
thickness (dam) 

Fig. 2 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 
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Fig. 3 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 
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Fig. 4 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 
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Fig. 5 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 
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Fig. 6 


